INDIAN SCHOOL DARSAIT
HALF YEARLY EXAM, SEPTEMBER 2019

MATHEMATICS

Sec:

Date: 19-09-2019

Name :

General Instructions:

i
il
iil.

g)
h)

Q.11

b)

d)

Read the question paper thoroughly and attempt your paper neatly.
Marks are indicated against each question.
All questions are compulsory.

Fill in the blanks:
63252 + = 12328 + 63252

734532 — 34,532=

Product of the greatest and the smallest 3 digit numbers is
(432 = 1005 ) x = (1005 x 810 ) x 432
368 x  =3680
When 4563 is divided by 100, remainder is
= 350 =0

If 584 x 8§ =4672, then 4672 + 584 =

Choose the correct answer and fill in the blanks:

Difference of the largest 5 digit number and the smallest 4 digit number 1s

i) 98,999 i1) 99,999 iii) 98,666 v} 9.999
25000 + 5000 =
1) 20000 i1) 25000 iii) 30000 iv) 35000

Number of days in 50 weeks is
i) 500 ii) 570 iii) 350 iv) 700

In 45 x 8 =360, 8 is called the

i) product ii) multiplier iii) multiplicand iv) none of these
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e) If 56 x 12 =672, Which of the following is not true?

)672+12=56 ii)672+56=12 iii) 56 672=12 iv) 12 x 56 = 672
f)  The price of 10 note books is T 800. The price of I note book is
i) T800+10 i) T800x10 @) 80010 iv) T 800-10
Q.III Write True or False 4x1=4

a) 2987 + 567 = 2987—567

b) The sum of 1,00,000 and 0 is 0

c) The product of 30 and 20 is 600.

d) Remainder is always smaller than the divisor.

Q.IV  Answer the following ' 8x2=16
a) Subtract : 67541 -31082
b) Find the sum  : 45780 + 5213 + 24088
©  Add: %200, ¥85 1250
d) [f there are 275 notebooks in one rack, how many books will be there in 36 racks?
€) Find the product: 2453 x 5
f)  Multiply : 650 x 120
2)  Find the quotient and remainder : 543 = 15
h) Fill in the blanks:
1) 6000 + 100 Quotient=__ Remainder =

i) 4089 + 10 Quotient = Remainder =

Q.V Do as directed 0x3=18

a) Subtract and check : 89,000 — 54,783

b) Solve : 23456 + 23323 - 8109

c) Multiply: 567 x 325
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d)

Price of 1 kg tomato = < 70

Price of 1 kg banana = Y 90

Calculate :
1) The price of 12 kg bananas

i) The price of 20 kg tomatoes

e) The product of two numbers is 2808. If one of the numbers is 12, What is the other
number? ‘

f) Divide and check : 6485 4
Q.VI  Solve 2x4=8

a) On Independence Day, 6289 flags were put up in 8 different schools. How many
flags were put up in each school ? How many flags left over?

c) Akshita bought a toy car and a cricket bat. The cost of each item is given below.

i) Find the total amount to be paid.
ii) If she gave the shop keeper a < 500 note, how much change did she get back?
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